EARAROBEEIERT — 2 N— IBISH —F

2017828210 (X) 26EEH3A

m C3=Z ¥o%4m%t ‘ [Xiz] % ‘ [eErsm]  — | & (@) 1400M FAE
[AE4£] 17 :200,000" ~ 23%&:48,000”  33&:24,000”  43%&:16,000 .~ 57 :12,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N LI HE R :35. 02— . — AFIERS (FEiH)
1lgliol 7eI7 07> o7 g 1(3_5)3 2-2-2-2 | 41.5 4 ig? IJ‘-I\K?E‘T"E
R:IT7IN—K B:Hity bRZ— Ktq HE
45 | A 1:35.5 1-1-1-1 [41.8| — 1 553 | BSES ()
2(8|9| N7V TFAT— 56.0 (1 1/4) -2) ) H. | a-KL—3as
R:w>NnNy&>Hh7x B:vY</4—-0F 1%iE 5L
SRS TR . o4 | MEREF 1:35.8 10-10-3-3 | 41.7 | — 8 467 | EEEER (ER)
k) 2 W Sy bET—T 56.0 (11/2) +1) #8) z'f)lx"f/\"i( ~EE
LNNVTSY BibhyTT7H—F 1> HO%%
= = = it 6 | BREA 1:35.8 9-9-10-9 |41.3| — 9 443 | BEFEX (EMA)
45|65 | ATFFTTATZ 54.0 (NF) (cay | 1) A—LFNZpEE
R:ANSNGZ B:T)F22>I0 EvilLy RIT7—L
o~ # o6 | TIRLEHR 1:35.8 6-8-8-7 |41.5| — 10 | 441 |EEE (FEHR)
sEN3|/ /b 56.0 () © |MILER
vy ETyA BANAT—FK Hra—t€
S 2 4 | WREH 1:35.8 5-4-4-4 | 41.8| — 3 447 | EEHEER (EB)
6N 4| ATV L/AX “ 4 50 75 s |8 FoFAR MR
Z:Oo—I>J0> B:Xh-LyvhiH hE xE
s =S it 5 | ETHR— 1:36.2 4-4-6-5 | 42.1| — 2 476 | HBARRER ()
7|11 | K7Y 2237 54.0 21/2) Ly |KEEER
LA agLyy BXT7Ux—R-—F HBETr—L
. = HifE® : 65— — EREY (T
8l7lglaLbrFasn i 5 e 1(73?:)3 7-6-5-6 | 42.3 6 (4_612) ﬂm?ﬁ
L:IAo Yo7 BRIy b HWE A
» . 4 6 | HEAME 1:37.2 8-6-9-10 | 42.9 | — 7 439 | BIEFIER (EH)
917|7 E7/Fv 54.0 (6) (+2) %ﬁ)n#—)b*f/\‘;( ~MEE
L:v=~NFZXH$rF— BET7=ZXb P el
5o REFR :37. -3-7— . — ErEUE (FiH)
10 6| ILTLTEY H 5 e 1(337)7 3-3-7-8 | 43.7 5 (5_126) e
L:wiNygLhTr B:vahH-LT4T7Y 1%E 5L
® 1—F—@EBIERL
1T=7r= 9,10,6,1,4,3,8,7,5,2
2a=5"= 9,10,6, (1,4),(7,8),3,5,2
Ja=5= 9,10,2,4,8,1,6,3,7,5
43—+ — 9,10,2,4,1,8,3,6,5,7
[ N5
B 10 1,610 714K 9-10 420 e E 8-8 560 JEE 2-9-10 3,450/
B B 10 370M 2-10 3,480 B = 9-10 690M EE 10-9-2 35,340
9 140 2-9 790M B H 10-9 3,210
2 430M

ABICOVWTRDTEEERROODE. TR LIV,




